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— FAREZEME  TETHEE-
BIF | (4x2)x7=4x(2x7)=56

@ (6x10)x7=6x(10x ) =

@ 4x(450x6)=(  x450)x 6=

@ 7x(40x8)=(7Tx_ )x8=

@ 5x(770x3)=(B5x_ )x3=

® (6x45)x9=_ x(45x9)=

® 8x(11x7)=( X ) X =
@ (2x36)x8= X ( X )=
® 4 x(25x 16) = ( X ) X =
© (8x200)x3= X ( X ) =

= HAUBRENS L SIETIIEE -

BIF ) 78x4x5 BH4x5=20> Fulkste
" OxEx9) 4 x5 ALHHERE -
=78 x 20
= 1560

@ 23x2x5 @ 8x6x5

=23 x( X ) =
=23 X =

® 39x4x25 @ 74x25x2

=39 x ( X ) =
=39 x =

® 16 x625x 4 ® 14x125x8

=16 x ( X ) =
—16X7 =

PA



_2EEE

w. hket.com

HEX E 55

E . n-\élﬁ% °
@D 37x3 @ 7x37x3
® 72x125 @ 48 x 37
= X 8 X =16 X
® 56 x 875 ® 125x 16
= X 8 x X7 = X 25 x X
@ 45 x 74 ® 625 x 72
=15x X X = X X9
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